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Physiological and Psychological Factors which Improve Performance

Answer four from five questions.

Total for this question: 8 marks

Effective analysis of movement and reaction to an opponent’s shot can lead to an improvement

in performance.

The tennis player in Figure 1 is executing a forehand stroke.

Figure 1

e Table 1, identifying the fype of joint, the joint
der from a—c and of the clbow from c—d used
(6 marks)

nswer book, copy and complet
d the main agonist of the shoul
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action an
in the execution of the
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(i) Name, sketch and label the lever system operating at the elbow during the action from
(3 marks)

c—d.
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Unit 1

General Instructions

In the mark scheme i
/
CAO
Equiv.
1 (a) ®

(N.B. Cr edztfrsz answer only)

@ (i) 1.

7 Correct labels (fulcru
3

all & socket (Horlzontal) flexion/
adductzon

separates single marks

indicates alternatives

correct answer only

Means allow any equivalent answers.

g
Pectorals (major)/
(Anterior) deltoid

p

6 marks

Third class/order lever;
m/pivot/joint; resistance/weight/load; force/effort/action);

Correct order — force/effort/action in middle.

Pivot/fulcrum effort/force Resistance/weight/load
3 marks
() O 1 Choice reaction time;
2. More choices/stimuli longer reaction time;
3. Linear fashlon/relatlonshlp/dlrectly proportional 2 marks
(N.B Accept annotated graph)
(i) 1. AreaA-— Psychological refractory period (do not credit PRP);
2. Response X — Player prepares for shot/forehand/volley/backhand'
3. Response Y — Player has to run to net/adapt to the changed flight of the ball.
3 marks
(iii) Stimulus can only be processed one at a time;

But before first response can be completed;
The second stimulus has occurred/arrived;

They must deal with stim

ulus 1 and finish with it and begin to process stimulus 2;

pond to this second stimulus;

But there is a delay (psychologlcal refractory period)/longer time/slower reaction time;
Because player stops to sort out information (ball hitting net);
Player reacts too late/rushed shot/unforced error/e.g. »s/cannot return/opponent

wins/player loses point.
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4 marks
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